How many jumps of 27?

3.

Division Using the Number Line

. 12 apples are shared in groups of 3.

How many jumps of 3 on number line from 0 to 127

Answer:

. Use the number line:

< | | | | | | |

< | | | | | | |
0 2 4 6 8 10 12

Tick the correct jump pattern for 18 + 6
(@) 3 jumps of 6
(b) 6 jumps of 3

(c) 9 jumps of 2

. Ria shared 15 cupcakes equally in groups of 5

On number line, she jumped by 5s till 15

How many jumps?

. Fill in the blanks

N

| | | | | >
0 4 8 12 16
Each jump =4

Jumps made =

Total + 4 =

~ I I I I I -

20+ 5=

Draw jumps on number line from 0 to 18 with step of 6

Number of jumps =




. 24 chocolates shared in groups of 8.
Use number line to find how many jumps of 8 = 24

Answer:

9. Tick the number of jumps

For36+6

(@)5 )
(b) 6 )
(€7 )

10.Show jumps of 3 till 15.
< | | | | |

| | | | |
0 3 6 9 12

Number line:

How many jumps?

11.There are 18 biscuits. Each dog gets 6

On the number line, how many jumps of 6?

12.Fill the blanks

< I I I I
~ | | | | -

0 7 14 21
Jumpsof

21+ =
13.Tick all correct
(@) 12 +4 =3 jumps of 4

(b) 30 + 5=6 jumps of 5

JUL

(c) 36 + 6 =8 jumps of 4
14.You have 27 balloons. Grouped by 9s using a number line

Jumps =

15.Complete the pattern on number line

< | | | |
~ I I I I -

0 6 12 18
18+6=

15




